JlaGopaTopHnasi padora 2

Tembl. YcanoBHbIl onepaTop. Opranusanus BBOAa/BbIBO/A.
3ananme. Jlano(-p1) 3HaueHue (-5) aprymenTa(-oB). BeraucinTs 3HaueHne QyHKINUU 1O

dbopmyse.
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fl_, )= unu coobulenue, «x = , Y= He npunaonexcam O/3»
Hexoropsbie GyHKIMHU
Hmsn Onucanue
abs AOcomroTHas BeIMYNHA
ceil Oxkpyrienue 10 Oauxaniero 00JbIIEro eIoro yucia
cos. sin. tan Kocunyc, cunyc, TaHreHc
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OKCIOHEHT €*
exp(x)
fabs AOcoIroTHAs BelIMYHHA
floor Oxpyrienue 10 ONKalIIero MeHbIIEro MeJI0T0 YHhciia
OcTaToK OT JeJICHUs HaLEI0 JJIsl YUCEI C IIaBaKOIIEH
fmod TOYKOU
log HarypanbHslii norapudm
log10 Jlecatuunpiii Jorapudm
Xy
pow(x,y)
sqrt KBanpartnsiii KOpeHb
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	Описание
	abs
	ceil
	cos, sin, tan
	exp(x)
	fabs
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	log10
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